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Note:  Figure to the right indicate Sull marks of the question.
Q:0I(A) Define the following sets 9
(1) Universal set (if) Equality of two sets (iii) Power set (iv) Singleton set
(v) Null set

Q0I(B) If U={1,2,3,4,56}, A=1{2,3,6}, B={3,5,6) then Verify that 9

(i) (AUB)'= A'NB' (i) (ANBY = A'UB' (iii) (A ~B)U (B—-A) = AUB — ANB

OR
Q:Ol' (A) Solve the following equations by using cramer’s rule 9
2x+5y -21=0 and x+2y-£=0
Q:O-I(B) Explain Properties of determinant. 9
Q:02(A) - Define thc following Matrices ' : ‘ 8

(i) Row Matrix (i) Null Matrix (jii) Square Matrix (iv) Symmetric Matrix

{v) Unit Matrix

Q:Q?‘(B) IfA= rzl 31’]‘ then find matrix B suchthat A + 2B = A? 9

OR

Q:02(A) [z 3 1 8

IfA= 10 5 6|then Find inverse of A.
1 1 2 _

Q:02(B) Solve the following equations using inverse matrix method, . 9
2x+3y—-Z =5, 3x +2y+Z=10 ¥d x-5y+3Z=0.

Q:03(A) . Define the following terms. 9
(1) Simple Interest (ii) Compound Interest (iii) Sinking Fund

Q:03(B) Rohan deposited Z. 15000 in a bank at 11 % rate of compound interest, What
amount will he receive at the end of 5 years ? How much interest will he get. 9-

N - (moy




OR

Q:03(A) At what percent rate of compound interest, suin will be doubled itself in 6
years ? ' -
Q:03_(B) Anila Ltd. Purchased a machine for . 5,00,000. Its expected life is 12 years.

After that period a new machine will cost 60 % more. In order to provide for
this, it was decided to create a sinking fund. On every 31® December a sum
was to be invested at 14 % rate of compound interest. find out this sum.

(:04(A) What is mean by interpolation and extrapolation. explain its uses.

(:04(B)  From the following data interpolate y for x = 20 by using Newton’s method.

X 14 18 22 26 30 34
y 30 35 42 51 62 75

OR

Q:04(A) Find the missing value by using binomial expansion method.

X (11 112 |13 14 115 Tie Ti7 713
y 18 110 [13 |7 |24 |30 |36 [45

Q:04(B) Estimate the percentage of criminals of age less than 35 , using lagrange’s method.

Age (Less than) 25 30 40 50
Petcentage of - 52 673 |-84.1 | 944
criminals
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x | 14 | 18 | 22 | 26 | 30 | 34
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